2006 IR HIFE[1] S [3] Had

A(X) = Ax+a, B(X)=Bx+b, C(X)=Cx+c 95 ¢
{AX)F +{B(X)}* = (A% + B®)x? + 2(Aa+ Bb)x +a’ +b?
{C(x)}* =C?x® + 2Ccx +c?

{AQ)) +{BMJ ={Cf »mvroL
A?+B*=C?> —@O Aa+Bb=Cc —@ a?+b*=c? —©

DX A=Ccosa, B=Csina £ BIF T, @@LV a=ccosp, b=csing tBiT5, @QIZCATHL
Aa+ Bb=Cccosacosg +Ccsinasin f=Cccos(f —a)=Cc
Ccfcos(e - ) -1}=0

ZIZT, AX), B(X), C(X)IE—kAXTHDLH, A#20,B#0,C20THY, cosa=0,sina=0ThHd,
c=0mtE a=b=0

A(X) =Cxcosa = C(x)cosa, B(x)=Cxsina=C(X)sina TH V. & HIZC(X) DEEETH D,
cx0DEE cos(B-a)=1 pP-a=2nz P=a+2nx

&V, cosp=cos(a+2nr)=cosa, sin B=sin(a +2nz)=sina THLHNH,

A(X) = (Cx + ) cosar = C(x) cosa, B(x) =(Cx +C)sina=C(x)sina TH V., L HLIZC(X) DEHKMETH D,

Uhickvrani, GERKE)



